SUMMATIVE ASSESSMENT I1, 2012
wr?rmuﬁan 11, 2012

MATHEMATICS / wfora

Class—X/EaiT—X'

Time allowed : 3 hours Maximum Marks : 80

fuffaemg ;3o " aifierdn 3t : 80

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.

Section-A comprises of 10 questions of 1 mark each, Section-B comprises of 8 questions of 2
marks each, Section-C comprises of 10 questions of 3 marks each and Section-D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choices have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such queshons

Use of calculator is not permitted.
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SECTION-A / @Us-31

Question numbers 1 to 10 carry 1 mark each. For each of the questions 1 to 10, four

alternative choices have beer provided of which only one is correct. You have' to select
the correct choice.
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If the discriminant of the equation 6x2—bx +2=01is 1, then the value of ‘b is :

Ay 7 ® -7 C =7 D) =7
It FHF 632 — by +2=0 @ fafomm1 & @ b w1 AE T

Ay 7 B -7 © =7 @) =7
The next term of the AP.: 3,1, =1, =3 ....... is: ’

(A) 5 (B) -4 C -5 D) o
U 9 3,1, -1, ~3 ... ] ST 98 @

(A 5 B -4 © -5 D) 0

The length of the tangent drawn from a point 8 cm away from the centre of a circle of
radius 6 cm is :

(A)  J7cm (B) 2J7cm (C) 10em - (D)  5cm
6L1]1WW§H$W@ 8c111§ﬁ§@@ﬁﬁ@ﬂ?@1ﬁw_§%l
(A)  7cm B) 2J7em - (C) 10cm (D)  Secm

If the angle between two radii of a circle is 130° then the angle between the tangents at the
end points of radii at their point of intersection is :

(A) 90 (B) = 50° Q) 700 (D) 4
Hﬁwqﬁﬁaﬁwéﬂaﬁaﬁﬂmmwm%amﬁmaﬂ%mﬁ@m@?ﬂﬂém
st % s Hv R

(A)  90° (B)  50° Q 70 D) 4w

If four sides of a quadulatelal ABCD are tangential to the circle as shown in the fig, then:
D ¢

2
/

13
(A) AC+AD=BD+CD (B) AB+CD=BC+AD
(@) AC+AD=BC+BD (D) AB+CD=AC+BC

afe fret IS ABCD &1 =i¢ sk 9 ) w99l Y@ €, St svenfa H femmn mn e, @
N S . .

14

S ,
(A) AC+AD=BD+CD (B) AB+CD=BC+AD
(C)  AC+AD=BC+BD (D)  AB+CD=AC+BC
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The ratio of division of the line segment AB by the point P from A is :

A) 32 B 2.3 ©) . 3:5 ) 2:5
‘T@r@’gmﬂwﬁipmﬁw&ﬂﬁﬁmwwmm%-

238 (@) 35 : (D) 2:5
The ratio of the total surface area of a solid hemisphere to the square of its radius is -
(A)  2m:1 (B) 3wl Q) 4w D)  1:4w
Tk 318 ST & el gy Wwwmzﬁqﬂﬂvﬁmﬁg
(A)  2m:1 (B) 3wl (TS| (D)  1:4rw

The diameters of two circles with centres A and B are 16 ¢m and 30 cm respectivelv. If
area of a circle with centre C is equal to sum
circumiference of the circle with centre C s -

(A)' 46 7 cm (B) 28 7 cm (@] 3 wom D)y  327com

< J9, T F A a9 B 2, % o - 16 om TN 30 cm €1 A C F =1t g 1 e

Wawaﬂm?wawﬁmc%mamaﬂvﬁm

of arcas of the other two circles, then the

(A db6wem (B) 28 7 em © 34w cem (D)  32wcm
In the given figure, if AD= 7 3 m, then BC is equal to :
A )
3 60
13 D) C .
(A) T4m (B) 27 m @ 29 m (D) 28 m
QRIS i ﬁ,qf?AD=7\/§m%,ﬂ\TBCEFIITH%:
\
5 D ¢
(A) 14 m (B) 27 m O 29 m (D) 28 m
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10.

11.

12.

13

14.

16.

'he pmbablht\ of getting a perfect square nimber from the numbers 1 to 10 is :

B Ay ® <@ % ™ )
1910 0F F Hemed § 4 kol o W W Wi €
A Ao ® 1 © % O %

SECTION-B / @Ug-d

Question numbers 11 to 18 carry 2 marks each.
gy §&AT 11 alsmmmﬂamwgl

If the equation ky:—2kx + 6= has equal roots, then find the value of k.

Tz R kv — 2k + 6= 0 F A TAA g, A k F 7 Q@ R

Which term of the AT, 1120, 116, 112, ... isits first negative term.
AP 120, o, 112, . 1 S8 Tgl S FMH 8 ?

ABC is an isosceles triangle in which AB= AC which is circumscribed about a circle as
shown in the figure. Show that BC is bisected at the point of contact.

s

A \
ANEAN
13 ) (5

ABC QEFHT-FETH" g et &, fomm AB=AC 8 S U& g7 & yfioTd = e TS W%ﬁﬂ
fevaran 1rn &1 gwisu fos vyl famg , BC w1 wmfgenfera sheell €1

If the perimeter of & protractor is 72 am, calculate its area. (lake w= 22/7)

s o a2 ~ 3 S . A 22 _ne 5
712 U WIE (WeH) U 72 om ¥, T IWH AEGA W10 HIFTC (7 = 7@“@@)

A metallic sphere of total volume 7 is melted and recast into the shape of a right circular
cylinder of radius 0.5 con. What is the height ot evlinder ?

Fe HA™FTA = a1 T el ] foae J’O“’)Lm ES) WQTW*}#’JW’T{H A €1 e
mww%/

Find the point on the x-axis which is equidistant from the pomta 2 — 5) and (-2, 9).
- i g fag Fd Ay S fasgell (2, —5) adi(—2,9) W HHETY T
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17.

19.

20.

21.

22,

Prove that the points (2, —2), (=3, 8) and (—1, 4) are collinear.
fog wifsm fe fog (2, —2), (-3, 8) 7 (1, 4) g

A bag contains 6 red, 3 black and 6 white balls. A ball is selected at random from the bag.
Find the probability that the selected ball is :

(a) red or black '

(b) not black

T 9 H 6 @, 3 el a6 Fhe e F1 I ¥ § wwh e argwed A w1 wifdewsar 9

i o e

(a) O a1 A &
(b) el FE R
, OR / 3teraT
Fwo dice are thrown together. Whatis the probability of getting a doublet ?

afg ) TR uk o % T E G uE (doublet) 3T =t e 1 8 2
SECTION-C / WUg-®

Question numbers 19 to 28 carry 3 marks each.
U9 WEAT 19 H 28 Tk WA U 3 3{ch ol &1

Find the roots of the equation ax2+a=a2x +x
ritentu] ax3+a=a2x+x?$ﬂ§l Md hIfST

OR / 31eraT
Solve for v : 443 ¥2+5x =23 =0
x o fau ga HINT 4 /3 22+5v-23 =0

Find the 10" term fromtheend of the A.P.:4,9,14 ......... , 254,
T it - 4,9,14 ... , 254 %1 3{d | 10 & 9 F1d Shifeg |

Prove that the in tu?ept of a tangent betweena pan of parallel tangents to a circle subtend a
right angle at the centre qf the circle.

faﬁﬁmﬁamwﬁt@m%aﬁ@mmmt@aﬂﬁ@ﬁﬁmﬁ%%m
HHHI A § |

OR / 3ieat

Two tangents TP and TQ are drawn to a circle with centre O, from an external point T.
Prove that ZPTQ =2 £0PQ

el s fag Hﬁoéﬁaaﬁqatma w9l Y@ TP qen TQ @i el €1 fog wifsw f&
ZPTQ=2 20PQ ¥

Construct a triangle with sides 5 cm, 6 cm and 7 cm and then construct another triangle

3 .
whose sides are 5 times the corresponding sides of the first triangle.
T TS ! = FINT a9 5 om,6 con 941 7 em €1 TR WeR 31 IERSIEIREE
ity et et ge fest i qeredt syonsii —;Tﬂ%’l

Page 6 of 9



23.

24.

25.

26.

27.

ABCP is a quadrant of a circle of radius 14 cm. With AC as diameter a semicircle is drawn.

Find the area of the shaded region (take 7= 2)

B C ‘
14 cm 531 918 99 1 ABCP U =qafel 1 AC &1 5419 0 oY e THga S 41 |

The radii of two right circular cylinders are in the ratio of 2‘: 3 and their heights are in the
ratio of 5 : 4. Calculate the ratio of their curved suiface areas and ratio of their volumes.
3 o A e ) Feesi H 2 3 9 ST €AY S SarRdl § 5 - 4 F I &1 IR
% I3 EAhA a9l S H ST TG hif

OR / 3l

A toy is in the form of a cone mounted on a hemisphere of common base of diameter 7 cm.
If the height of the toy is 15.5 cm, find the total surface area of the toy (Take T = 27%)
o faeli el W i T UE & AER w1 § g EtTs =E 7 cm ¥ A
fae T 9% 155 cm §, 91 (™ 1 $of T AFH T Hieg | ("n’ = %Fﬁﬁml]

An observer 1.5 m tall is 28.5 m away from a chimney. The angle of elevation of the top of -
the chimney from Jis eyes is 45°. Find the height of the chimney. _

15 m S Tk Gu s fae | 285 m H gl W1 Al Juk o st @ fae F e w5
A 10 45° %, i e S SR 9 R

Find the ratio in which the point (=3, p) divides the line segment joining the points
(=5, —4)and (-2, 3). Hence find the value of p.

9% U Fa shitoe fore faig (-3, p), foigeti (-5, —4) T41 (-2, 3) a1 e a1l e
siedl €1 &7: p A I B¢

Prove that the diagonals of a rectangle with vertices (0, 0), (a, 0), (a, b) and (0, b) bisect

cach other and are equal.

firg Fifste 5 ¥t (0, 0, (a, 0), (a, b) @1 (0, b) AT 7 % farehot UM § q91 TFH gEL

Tofgfsid @ €1
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28.

29.

30.

31.

32.

A card is drawn at random from a well - shuffled deck of 52 playing cards. Find the

probability that the card drawn is :

(1) either a spade or an ace
(i) a black king

52 Tl il e T are kY TS H Y Wb o A e | wifaehar 9 SR i e
(i) ot o wm & @ sww
(i) T IR

SECTION-D / @Ug-g

Question numbers 29 to 34 carry 4 marks each.

UV WEAT 29 | 34 Tk Gdch Y9 AN 34k HT ¥

A train takes'2 hours less for a journey of 300 km if its spéed is increased by 5 km/hr from
its usual speed. Find the usual speed of the train. :

T YermEl =t Tfq, waﬁ‘r@nﬁi@51<m/1n~azajﬁma%wokmaﬁmmaﬂﬁﬁzﬁ%w
oIl &1 Yermel skt ge i 9 S

: _ ‘ OR / 3teraT .
A shopkeeper buys a number of books for Rs. 1200. If he had bought 10 more books for

the same amount, each book would have cost his Rs. 20 less. How many books did he
buy ?

T THFACR 7 1200 & | FB Torh el | aﬁmwmﬁmﬂfw?}'@@ﬂém
TAF GEIF FEE 20 7. K LTl I Feba Gerh @iiet ?

=
, dl

How many terms of the AP, : 20,191 ey 18% ............. should be taken so that their sufn
is 300. Explain the double answer.
wAt 4 - 20,1914, 1834 % fohe we fore ST R SR 4 300 @1 & wed

HRU ot )

Prove that Vthe tangent to a circle is perpendicular tﬂw},@ﬂgll the point of
contact. i s e

s o 5 g0 % T forg W dTeh ¢ oo Y, el Formg @ ST et oo e e B 31

A rectangular sheet of paper of dimensions 44 cm x 18 cm is rolled along its len.gth and a
cylinder is formed. Find thg volume of the cylinder so formed (use == 27—2)
44 cm x 18 cm {1l =1t U SRR SISt %1 orvTg & TR Tieet U Se S |
FH UHR S ST F I T/ BT (77 = 27—2 SUELEI

OR / 37erar
A solid right circular cylinder has a total surface area of 462 $g. con. Its curved surface area

- > . _ , 29
is one-third of its total surface area. Find the volume of the cvlinder (use w= —,7)
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33.

34.

Waﬁmqﬁmé@ﬁwgﬂq@am%zaﬁﬁ%n 3 Ioh IS F &AFA, ITF
%Wa}mm}w%aémwmmaﬁml (= %@l)

An open container made up of a metal sheet is in the form of a frustum of a cone of height
7 cm with radii of its lower and upper circular ends as 4 cm and 10 cm respectively. Find
the cost of oil which can completely fill the container at the rate of Rs, 50/litre.

22
Take ==
(Take m ~—7 )

wﬁwmﬁwﬁﬁ@aﬁqs@%waﬁmm%ﬁwmhn\aﬂt
Fract qen ol et ol = ot w5 4 om @201 10 cm 150 %, /forex 3 = A frerd A
’ 2

W@aﬁﬁaﬁuﬁwmaﬁaﬂml(w:;ﬁfﬁml)

From the top of a tower the angle of depression of an object on the horizontal ground is
found to be 60°. On descending 20 m vertically downwards from the top of the tower, the
angle of depression of the object is found to be 30°. Find the height of the tower.

T HHAR & oY | &fas 7o W feerd W o o ST 01 60° 2 ¥ ¥ 20 m. A FeERa
3T R feimg 1 ST THA 101 30° 81 HAR Y Hard W i | :
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